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A, anincrease in AR
B. an alternate reaction path.
C. adecrease in activation energy.
an increase in the fiaction of particles possessing sufficient energy.

). Consider the following reaction:
INOy,y + Oy — 2NOyy + 1121J

The rate of the above reaction could be increased by

) an increase in [NOL.
a decrease in pressure.
a decrease in temperanire,
an increase in surface area.
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3. A solution of acid is added to a solution of base, resulting in an increase in temperature. This result
indicates that the acid-base reaction is

A. exothermic and A H s positive,
“B. \exothermic and A H is negative.

C. endothermic and A H is positive.

D. endothermic and A H is negative.

4. Consider the following equation:
2H; 045y =+ 2H,0ppy + O

When a piece of raw potato was added to the above reaction, the reaction raie increased Fh‘a}nifiilﬁc‘al1Y«
An enzyme in the potato was found 1o be responsible for the increase in the reaction rate. In this
reaction, the enzyme would be referred to as :

A. a catalyst.

B. an inhibitor.

C. an activated complex.
D. areaction intermediate.

2. List two requirements for an effective collision between two reactant mvlesules. {Z marks)
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5. Consider the potential energy diagram below.
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PROGRESS OF REACTION
The value of the activation energy (E) for the forwa:ﬂ reaction is
A. 10k
B. 20KkJ
304
D 55kJ

1. The decomposition of N,Oj5 oceurs according to the following equation:
2N205 - 4N02 + OZ

The following data are collected for the above reaction:

time (sec) | mole N,Oy5
START 1.62
2.00 x 102 1.46
4.00 x 107 1.30
6.00 x 10° 1.14

Using the above data, calculate the reaction rate. (2 marks)

vate = A mele _~0-1b
A“t’\"“p’ 7 "“--'t.'_ln‘
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